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M-CE NR                                 +/-    %   PKL PDF   NAGRODA
--------------------------------------------------------------------
  1  16 Jerzy Bronisławski     4.0 KP  +1.11 57.34   4    
        Jerzy Powalisz         2.0 KP
  2  18 Małgorzata Bajerska        KP  +1.11 56.76   4    
        Marek Grużewski            KP
  3   5 Andrzej Monsiorski     4.0 KP        56.67   3    
        Andrzej Karczewski     3.0 KP
  4   9 Kazimierz Ligęza       5.0 KP  +1.11 55.13   2    
        Bogdan Zieliński       4.0 KP
  5  11 Jerzy Wawrzyniak       3.0 KP  +2.22 52.77   1    
        Krystyna Wawrzyniak        KP
  6  20 Stanisław Łański       9.0 KP  +1.11 51.74   1
          Gizynski             5.0 KP
  7   7 Zbigniew Mossakowski       KP        51.50   1
        Karol Nowak            2.0 KP
  8  19 Adam Gregorowicz       2.0 KP  +1.11 51.40   1
        Arnold Borkowski           KP
  9  17 Elżbieta Rogacka       1.5 KP  +1.11 50.74   1
        Halina Pientka         2.5 KP
 10  12 Maciej Raczyński       3.0 KP  +1.11 50.12   1
        Jerzy Mojsiewicz       5.0 KP

 11  14 Włodzimierz Maćkowski  1.5 KP  +1.11 49.94   1
        Bogdan Podgajny            KP
 12   2 Edmund Więckowski      1.0 KP        49.91   1
          Burzyński                KP
 13  13 Wacław Danilczuk       5.0 KP  +1.11 49.34   1
        Mieczysław Romanowski  2.0 KP
 14   4   Wozniak                            48.86   1
        Urszula Andrusiewicz       KP
 15  15 Bogumił Drews              KP        48.65   1
        Mirosław Kuśmierek     1.5 KP
 16   8 Lucyna Gozdek          1.0 KP        48.15   1
          Kinska                   KP
 17   3 Ryszard Kurpios        1.0 KP        46.33   1
        Lech Kobajło               KP
 18   1   Karaskiewicz                       46.12   1
          Karaskiewicz               
 19   6 Henryk Adamski             KP        40.76   1
          Żółkoś                   KP
                             -----
                   Suma WK =  68.0  
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